NUMBER SYSTEM (LCM)
N




LCM (least common multiple)

NO. OF QUESTIONS MAXIMUM DAYS CLASS DURATION

10 Questions 1 DAY 2 HOURS













What is LCM? /
How to find LCM?

Example:
Find the smallest number N which can

divide 2 and 37




Let N be the Smallest number which when divided by a, b and c leaves...

Type-1: —
N=k.LCM (a, band c) Same Remainder (Let r) Different Remainder (Let 1y, 73, 7'3)
k=123..... /

Type-Z: Same Difference Different Difference
N=k.LCM (a,bandc) + (i.e, a- ry=b-ry=c-r3 =x) (i.e,a-1ry #b-1r2 #c-13)

Type-3: :
N=k.LCM (a,bandc)-x N = k.LCM (a, Jfand c) + Chinese Number




N=k.LCM (a, bandc)
T e




Find the greaumber which is exactly divisible by 2, 3,

and 112 3 3{D1 Pl dg Ia4 T
: dwhz,s,gahvﬁ - -
q :ﬁmnmﬁ?

1) 990 1) 937 111)981 IV)983

< L

SSC CGL 2016, S;i'. MTS 2014
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CLASS EXERCISE

What is the greatest number of 4 digits which is
exactly divisible by 10,15 20 ? 4 3{®| &I Had
HSIT T § ST 10,15 20 ¥ Yuia: faursa 82

) 9990 ii)ggjeo/ ii1)9980
iv) 9995 A

s




cLass exercise [ELTRIILct g g AT
The Greatest four-digit number which is exactly divisible by

12,18, 21 and 28 is ? TR 3| H| I TSI HSIT-E

r‘_& ,

21 3} 28 | Yufa: fAuTsa 8, 98 87 SE
9i)83328 0 iii)9728 : u:}/o;\ivgo\ ¢
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CLASS EXERCISE

digit number which is exactly divisible by
28)s 7 IR ! B} TaR a1 H@A WAl 12,18,
 faursa %, de %’?

n)aé@ _wém v)

SSC 2015
, 2016
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Find the least number which when divided by 15, 20, 36 and 48
respectively leaves remainde@ﬁ each case ? d@ DIt | Bidl

=T 9T |
Fifore ford s 15, 20, 36 aﬁusﬁﬁmﬁmaﬂﬁw4

T RS A 3 A7 T247 \>\%

) 73/ 1) 740 111)1450 IV)815 & @
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00 A% L Ve
\&Z/ : \L\\? \?




CLASS EXERCISE

What is the least number which when divided by §.9,12.15
and 18 leaves a remainder 2 in each case ? dg Esfﬁ

ot 3
Jen e o8 6.9.12, 15&ﬁ?18ﬁﬁuﬁaaﬂﬁwuﬁ$
fRIff A2 Avsaare?

i) 180 ii)176 !iii)182 iv) 178

SSC CHSL 2017 & CGL 2015




CLASS EXERCISE

Let N be the least number of 6 digits which when divided by 4, 6, 10 and
15 leaves remaind en find th -' - N

6 3! Pl B @A g o4 4, 6, 10 3R 15 A
TR #3322 A9 gadT 2, @t N &SI BT g

:%?éﬁﬂﬁ?? ij4 — S
| 3% 2




CLASS EXERCISE

divided b ,3,4 ,5and 6

ut that num er is divisible b
DI A DI =T J1d fSRf2 3 4. 53Ik69
ﬁmﬁawﬁwm
ﬁ1ﬁqﬁﬁﬁﬁrﬁm7ﬁﬁﬁ/@
) 724 1) 245 |||)\3% |\9\A(

%3 W4
\P f /

Find the smallest number which w
and leaves remainder 1 in each cas




case but when this number is divided - :
mﬁm4 6, 8 9@ ks
lﬂ'ﬁliﬁl?ﬂ% Waﬁwﬁﬁmrrﬁmﬁmm%
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P e
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Find the sum of digits of that smallest number which is divided by
5, 6, 7 and 8 leaves remainder 3, but when divided by 9 leaves no

remainder?@ﬁaﬁmﬁ@%ﬁﬁﬁﬁmmm
S5 6 73R8 A

YT #3731 3 AT a9a1 &, afpd 9 A RURE A W
HIS A9 T8l 99dT &7
1) 12 ) 16 m21 )18 .\&



CLASS EXERCISE

Let x be a smallest number which when divided by 5, 6, 7
and 8 leaves a remainder 3 in each case but when divided by
the same number by 9 then the remainder will be 0 . Find the

f digit of x ? AT Bl 4 Bl gen e o™
= 6.7 % T i o R e Ty

2 AP I I=m | 9 | Ay #3193 ) Juwa 0 ure

gIaT 21 x P 3(P] BT INT JTd PIfore?
i) 24 ii)21 i) 22 iv) 18

SSC CGL Mains 2015, 2017



